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PART I (to be done by hand)

1. Below is a histogram of the shear strengths (in pounds per weld) for 94 samples of a certain material

MTB > GStd.                                  (a) Comment on the shape of the histogram.

MTB > Histogram C1.

Character Histogram                          (b) What class width is used in the histogram?
Histogram of C1   N = 94        

Midpoint   Count                             (c) Find the class boundaries of the 5th class.

 138       1  *

 140       1  *

 142       1  *

 144       3  ***

 146      10  **********

 148       9  *********                      d) Find the percentage of samples whose shear
 150      14  **************                   strength is below 147 pounds per weld.
 152      21  *********************    
 154      11  ***********

 156       6  ******

 158       6  ******

 160       6  ******

 162       4  ****

 164       1  *

2. Below is a stem and leaf plot of the length of stay (in days) for 58 individuals committed voluntarily to an acute                    psychiatric unit of a  health center.
Stem‑and‑leaf of LENGTH    N  = 58    (a) What is the leaf unit? 

Leaf Unit = 1.0                       (b) What is the stem unit? 

 24    0 000111111111112222233444     (c) What is the increment? 

(14)   0 55555667788899

 20    1 01112334

 12    1 5899                         (d) What sample value does 1|5 on the plot represent?
  8    2                                  
  8    2 5555                     

  *    3

  4    3 55                           (e) Fill in the missing depth (*).

  2    4 

  2    4 5

  1    5                              (f) Comment on the shape of this plot.
  1    5

  1    6

  1    6                              

  1    7                                 .
  1    7 5                                
3. The paper ‘Mercury Content of Commercially Important Fish….’ (Environ. Research (1983)) reported the following observations on mercury content (ppm) in the hair of 40 fishermen.

   5.19   5.50   6.96   9.84   9.84  10.64  12.86  13.26  13.80  13.89

  16.51  16.81  18.10  18.28  18.51  19.63  21.03  21.16  21.82  22.05

  23.94  25.87  26.29  26.88  28.66  29.56  30.13  31.43  31.58  32.43

  32.97  33.92  35.35  37.65  39.14  40.69  42.42  58.23  64.00  68.20

a)  Construct a frequency distribution using as the first midpoint 10 ppm and class width 10 ppm, with columns for the class interval, midpoint, frequency and relative frequency.

b)  Using only the frequency distribution, determine the proportion of fishermen in the sample with mercury content less than 45 ppm in their hair.

c)  Construct a histogram for the above data based on the frequency distribution.

d)  Construct a stem and leaf plot with a stem unit of 10 and 2 leaf categories per stem.

e)  Find the sample mean, median, variance and standard deviation.

